Front Rigging - Swing Out Hangers
70, 80, and 90 Degree

SCM_037A



Front Rigging - Swing Out Hangers

70, 80, and 90 Degree

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 8881173077 | Hanger, Front Rigging, 70 Degree, Color 1 1
2 Tube, Rigging, 70 Degree, Color 1 1
3 Housing, Locking Pin 1 1
4 Support, Hanger, Footrest 1 1
5 Bracket, Front Rigging 1 1
6 Calf Support Strap 1 1
7 Screw, Socket Head Cone PT Set (M10 x 1.5 x 16) 1 1
8 Screw, Socket Head, Cap (M6 x 35mm) 1 1
9 Screw, Countersunk (M4.8) 1 1
10 NLA - Locknut (M6 x 1) 1 1
11 B 8881169050 | Hanger, Front Rigging, 80 Degree, Color 1 1
4 Support, Hanger, Footrest 1 1
5 Bracket, Front Rigging 1 1
8 Screw, Socket Head, Cap (M6 x 35mm) 1 1
9 Screw, Countersunk (M4.8) 1 1
10 NLA - Locknut (M6 x 1) 1 1
12 Tube, Upper, Front Rigging, Color 1 1
13 Housing, Legrest, 80 Degree 1 1
14 Screw, Stop (M10 x 1.5 x 23mm) 1 1
15 Screw, Stop (M10 x 1.5 x 12mm) 1 1
16 Key, Cap 1 1
17 C 8881172207 | Hanger, Front Rigging, 90 Degree, Color 1 1
5 Bracket, Front Rigging 1 1
8 Screw, Socket Head, Cap (M6 x 35mm) 1 1
10 NLA - Locknut (M6 x 1) 1 1
18 Tube, 90 Degree Footrest, Color 1 1

NOTE: A -Includes items 2 - 10.
B - Includes items 4, 5, 8, 9, 10, and 12 - 16.
C - Includes items 5, 8, 10, and 18.




